U-t = (-1
u = >

TORATY P
Simplify: (20 T 20l

o Wmws G (W
LD = (U\-\)Cu}
Au” oA Q| U\-CU»-\}
U Cw-) Uulu-D U lu-t)
B auo caury _ 2u-w - WG
U (-0 Conwe) Al

2l
U-1

——



0 Lo vii= W) >
Simpilify: (v\& CB v;il. V=l = v

V=l = (ul@(v—l\
L LD = @HYU—B
NV -V SV ¢
Cur)) (u-1) (l/4 DY -1 mﬁ
\]71\/ Yovis-¢ \/L+2v—-3 _ (V+<>7fv7h
(\H«QC\H) N (\7“)(\/-1) (v K/‘IB

— UID
(VA




(3u¥"i‘|:” (2&"‘”’:\’ 17w+4 Wer= Cwsd

Simplify:

w+2 w7 w2+ Ow+14 " W= (wr)

Ny W’ +iw 112 wrad(w+)
Sw —flfwﬂ v Do +4 o 34 Lo = (w%—b)Cw}-‘?)
Cwradwrn Cr2Xwor?y (b2 A7

BLH2Uw + 2y — 17w }wl + b “Sw M

— e - . =
Cw £2) (W) (w2 )(w¥T — (WX wi)
— Sw
- Sw

N



